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QUESTION ) Ak KCLSh A& &

If f(x) = 4x* + ax + (a — 3) is negative for atleast one negative x, find all possible values
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Find all real values of 'm' for which the inequality mx? —4x+ 3m + 1 > 0 is satisfied
for all positive 'x'.
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Arithmetic Progresslon)

If each and every term except the 15t term bears the constant difference with its
immediately preceding term then the sequence is called A.P. i.e., diffe
consecutive terms is constant (common difference)

Tn+1-Tn=d n=1

"Teven — P?Q(.HQ( IS
1errm

— o
Standard AP T Ta AR Iy S
T Q . G+d, G+2d G+2d ’Q+\|d e

m o e Bgiming

*\£ A0 AP is \‘nuea\‘ma

H \$dco=y NP s Slecreosing
F \2 Q= AP s conauany .




k'™ Term from End of an A.P.>
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Remember That

(i) Sum of first n natural number is

(i) Sum of first n odd natural number is n2. = 1+3+5+7+ - = ¥F to
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QUESTION [JEE Advanced 2017] ) @

Paragraph
Let p,q, be integers and let o, B be the roots of the equation, x? —x — 1 = 0, where
a#B.Forn=0,1,2,..,leta, = pa™ + qB".
FACT: If a and b are rational numbers and a + bv5 = 0,thena = 0 = b.
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QUESTION [JEE Advanced 2017] ) @

Paragraph
Let p,q, be integers and let o, B be the roots of the equation, x? —x — 1 = 0, where
a#B.Forn=0,1,2,..,leta, = pa™ + qB".
FACT: If a and b are rational numbers and a + bv5 = 0,thena = 0 = b.
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The set of all real values of A for which the quadratic equations,

(A% + 1)x? — 4Ax + 2 = 0 always have exactly one root in the interval (0, 1) is:
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The integer 'k’, for which the inequality x* — 2(3k — 1)x + 8k? — 7 > 0 is valid for every
xinR, is:

= 2A* -2 (3k-0%x ¢+ 8k*-7 sp
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